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VS Lyl Gy adad gil) adealy

Circuir Breaker Ratings

10{ 16{20{25(32{40{50 63|80} 1001 125) 160| 200{ 250(400) 630{ 800{ 1000| 1250{ 1600| 200012500} 3200{ 4000| 5000{ 6300

MCB ACB

| MCCB |
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( #loed) (A a93any gedns 8 Sl ) cuuadiiall Sl pdibe ] 40 VA 45530 gl (D Jaa 1 JBa
:dadl
260 =40 %x15=]; Jeald A5 -1

il 75 = 1.25 % 60 = 1.25 x Jaadl Ji= [, p ahldll A3 -2
el 80 (A adalill 3 S gapdl (e dpudd A

204l 96=1.2%80=1.2 % il j5=1, Jush 453
onval 87 O a5 Al 03 ) 395 19 Jate Oay, agmaaall Al oS Aad Gl o cOlysll Jgip (B i
g i ale 35 adiia dabicagd JusS Josadl (A Lbily il g asal 106 Ay Ao L 32U 03 el 106 v
204 (3% 35 +16) o 2pda (4 % 35 ) o JuS g 4

a1



Table 19, Three and four core cable with copper conductor , PVC 70 € Insulated and PVC sheathed

Conductor | Conductor Resistance | (a1 Ciad &y hda ) in Ground (#1563 A) In Air
Jua gall Jua gall L glia
Cross Unarmoured Armoured Unarmoured Armoured
Sectional
DCat20¢ | ACat70C | s aid | Laldin Duct | Diractlaid | Free | Inpipes | Free
Caday | Aomay  cmay Ja | Method TS
e fodpe | cad @Sy | Byl
LEN ) ) : C
eﬂa [t wa <aal
ba sl wa wa Jals
4 Maximum | Approx sl
akally
ohm /Km | ohm /Km '
&l Approx | Approx | Approx | Approx  Approx | Approx
Amps Amps Amps Amps Amps Amps
15 12.1 145 21 18 - 16 14 -
25 741 | 887 27 23 . 2 | 19 ,
4 461 | 552 36 30 36 29 | 24 29
6 3.08 3.69 45 37 45 37 31 37
10 1.83 2.19 60 50 60 50 41 51
16 1.15 1.38 78 65 78 66 54 66
25 0.727 0.870 100 83 100 87 70 88
35 0.524 0.628 125 101 124 106 84 109
50 0.367 0.464 149 121 147 130 102 133
70 0268 | 0323 | 183 148 180 | 163 126 | 167
95 0.193 0.232 210 178 215 201 154 204
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